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16:10
A3 2IA0|= L{H| (H/m) 0| (B1+B2/m) Tele (A/m) Wide (B/m) =0| (B2)
80 1.723 1.077 0410 -0.018 0.135
84 1.808 1.130 0.428 0.000 0.144
85 1.831 1.144 0.433 0.005 0.147
90 1.939 1212 0.456 0.027 0.159
95 2.046 1.279 0478 0.050 0.171
100 2.154 1.346 0.501 0.073 0.182
110 2.369 1.481 0.546 0.118 0.206
120 2.585 1615 0.592 0.163 0.230
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16:9
A3 2IA0|= L{H| (H/m) 0| (B1+B2/m) Tele (A/m) Wide (B/m) =0| (B2)
80 1.771 0.996 0.422 -0.006 0.195
81 1.802 1.013 0.428 0.000 0.199
85 1.882 1.058 0.445 0.017 0.211
90 1.992 1.121 0.468 0.040 0.226
95 2.103 1.183 0.492 0.063 0.242
100 2214 1.245 0.515 0.087 0.257
110 2435 1.370 0.561 0.133 0.289
120 2.657 1.494 0.608 0.180 0.320
4:3
ASRIAMO|= | L{H] (H/m) £0| (B1+B2/m) Tele (A/m) Wide (B/m) £0| (B2)
80 1.626 1.219 0.465 0.036 0.160
85 1.727 1.295 0.490 0.062 0.173
90 1.829 1372 0.516 0.088 0.187
95 1.930 1.448 0.542 0.113 0.201
100 2,032 1.524 0.567 0.139 0.213
110 2.235 1.676 0.618 0.190 0.240
120 2.438 1.829 0.670 0.241 0.267
FAL A2 AN S
16:10 Y = 0.004525 + 0.048482
16:9 Y = 0.004651 + 0.049830
Y: A3 ZIARO|= (EFQl:inch) X: BAF A2l (HHE:im)
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